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GCSE Mathematics

Practice Tests: Set 7
Paper 2H (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres, |
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

¢ Use black ink or ball-point pen.
Fill in the boxes at the top of this page with your name,
centre number and candidate number.
Answer all questions.
Answer the questions in the spaces provided
— there may be more space than you need.

Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
You must show all your working out.

Information

* The total mark for this paper is 80 l
¢ The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

M=3x*—nx SubSHYuh ‘o
Work out the value of M when = —2andn=35
z
= B~y = (S-) (" 2
<= nosh e i ( ) )

e BT

(Total for Question 1 is 2 marks)
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Mortar mix is made by mixing cement, sand and quicklime in the ratio 1 : 2 : 3

(a) Work out the volume of sand needed to make 2.1 m? of mortar mix.
Tote) Parts = (+243 =
%Pme.\ 2. im* = CParts

("‘-6) O.35W = | Pcuﬂ-
G, Sul e & ¢ =
ek ||
(x035) 0. 35 o F oS
............. O?_ m’?
2)
Julie has 0.75 m® of quicklime.
She has plenty of sand and cement.
(b) Work out the greatest volume of mortar mix she could make.
3
O.F*Sm =3 Pots
O.28m = | Pa/‘i‘
v Q. B T
2 S - Q L d, J'
(xo.27) .t 0o 0N
. —_ - .$O+Y o35
Drcpc;rhu» L «-0_1
= {-SOm
LS .
............................ m
(2)

(Total for Question 2 is 4 marks)
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Diagram NOT
accurately drawn

(3x+32)° (87 —2v)°

B g
In the isosceles triangle ABC, 8: 1o colQ
AB=AC lsoscata | DEAD2 = B2
angle B = (3x + 32)° angles equodl

angle C = (87 — 2x)°

i (£2) S+ ¥TF
Work out the value of x.
You must show your working. (——‘57__) S2¢C = S5

(=5) 20 = 1

(Total for Question 3 is 4 marks)
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4. (a) Calculate the exact value of (27-29)" ~(12.75)
0.75-0.25

..........................

(b) Write your answer to part (a) in standard form.

Y
HEO = g X0

.16 x|
...................... (1)
() Write your answer to part (a) to 2 significant figures, ([ 2 \ *
]
111§ O
s
................ 3

(Total for Question 4 is 3 marks)
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Bag 4 Bag B Bag C

Three bags of counters are used in a game, '

At the start of the game Bag A contains 5 red counters and 4 white counters.
Bag B contains 4 red counters and 1 white counter.

Bag C contains 3 red counters and 3 white counters.

The game begins by taking at random a counter from Bag A.

If the counter is red, a counter is then taken at random from Bag B.
If the counter taken from Bag A is white, a counter is taken at random from Bag C,
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(a) Complete the probability tree diagram.

First
counter

Red

White

(b) Show that the probability that the sec
the second counter taken is white.
zaq

s " o
s Ao IS
PCRW) =7 %F =0
2
Plwed = %% =5
e
P(w:w):%““f*%q.
B0 4 2
P(Second counter Mzo\)"—‘- ' TG
- — | A v
P(saoundh ssnter whil) = .+ &

1

Creloab: lH Thee s
—-—__-_—'_—_—-——..._.

Second
counter

Red

White

Red

White

3)

ond counter taken is red is twice the probability that

i 8
=

2. oL
—— < a
: N

1
=, =
(Total for Question 5 is 8 marks)
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6. (a) Factorise ¥ -16
2 &
Differenc o (x+y)(xoy) =y
3 K 28 M
Twe SC.V\A('JJQ- C;C +_|_(_’) (x_(_‘_\ = % =4
....... (2 -s)
@
(b) Factorise 9% — 6x+ 1
(2 =1 )GB=~1)
z

.................................

()
, . 6x* +7x-3
(c) Simplify —gm
#;.dorrae_-hp (3x—1Y@=+3)
1L.er:acbd—hm (3%~ (3%-1)
Senp\P G (o) 254 2
(Seedlbo-td 0 ° Pem¥
3)

(Total for Question 6 is 6 marks)
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7. The diagram shows a sector of a circle of radiug 7 cm.

A
/ \
|

\
|
40° J

— i

Work out the length of arc 4B.

Give your answer correct to 3 significant figures,

—

Hrcungeu—-f;—wd S

-

Bco
(d =)

= L.g¢ (2sp) -C§

........................... cm

(Total for Question 7 is 2 marks)

8.  The fraction, p, of an adult’s dose of medicine which should be given to a child who
weighs w kg is given by the formula

p=3w+20 SG 3 oS

200
3w+20 ; ; ; 5
Use the formula p = T to find the weight of a child whose dose is the same as an adult’s
dose.
Fachas” ook <f | I = 220
200
(x2e)

ACO = 240
(—20) (KO =2
(%3) &D == 0, A e e kg

(Total for Question 8 is 3 marks)
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The graph of y = f(x) is drawn on the grid.
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(a) Write down the coordinates of the turning point of the graph.

4y

(b) Write down the roots of f(x) =0

[SE—
tem Tleond 2

)

(c) Write down the value of £(0.5)

MPU,A;::L-:—O-S- '3’1’5-

4y

(Total for Question 9 is 3 marks)
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10. (a) % of the members of a tennis club are men.

% of these men are right-handed.

Work out the fraction of the members of the tennis club who are right-handed men.

3 < _ L
eI e & =

P (mocn ond Ayk) = e L cO g2
3

(2)
(b) % of the members of a badminton club are women.
el mon Mulhple
% of the members of the badminton club wear glasses. Lo\-u * COM ~ —E—'
Work out the smallest possible number of members of the badminton club.
=
wvean) = —
P (wowan) = =
S
P (glasses) = 3
2 \
Con Mrl be & P—“—QP T
5
§°3 - X
3:!% 16
"=
| 6 . X 1. L 12
? \/
2l 2Lt
(2)

(Total for Question 10 is 4 marks)

Edexcel GCSE Mathematics (9—1) Practice Tests Set 7: Paper 2H — Spring 2018 11



60\\):‘/‘\‘(1 LM-EJ-V' é‘(/"‘-ﬁ }\0’;5

2y+1 _ y-2

11. Solve
4

You must show your working.

2ot =
> n
(e | 42y = g -2
2
() L&(»Lt)—m) = '3(3”7*)
Goord | Pyt =70
= o &

Ceay| Sy
('-"-\-3 Sj - B T e ettt

j =-L (Total for Question 11 is 4 marks)
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12. The line with equation y = 2x is drawn on the grid. e

(a) On the same grid, draw the line with equation 4x + 3y = 12
2

l—t—':cfr'?;j = i

LQ(: o=y ; 't_'l'r\G_m\ \j o '—fﬂ
@b =0, tenx =2
CCJJQ} " (‘%/OB

(b) Show, by shading on the grid, the region defined by all four inequalities

C‘, ¥y 22X
T 2 4x+3y < 12 —
L’V'I T?J 5 12 C/ Q y g H'\u Coey lhuae ) = =
o 3) ¥ - '
"TET L S -
eEFL > () # 5 4
12 +9 /iZ (2 @)
s o we do st buect (—3"3 (Total for Question 12 is 5 marks)
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13. Given that ¢ is positive, make c the subject of a = .|1 —b—j .
\‘ o2

.
SeuAZE 0\2 = = 'bT_
(<
b- 2. b = i
CFenl | R
2
(ec®)] @e pa =G
(@) | o2tz o
il
(-c*) grie ="
2
T>e 6(08' D =-b
\ e = bq- b""
a-D) | ¢ =L - A -
Cll—— | PRSI L., it U
Reot c = a:%_ (Total for Question 13 is 4 marks)
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14. Alison is using the quadratic formula to solve a quadratic equation.
She substitutes values into the formula and correctly gets

—-7+1v49-32

4

Work out the quadratic equation that Alison is solving.

Give your answer in the form ax® + bx + ¢ = 0, where @, b and ¢ are integers.

Qadroh Q«m b+ EStac
Za
@ -b=-7F = b=
@y 2= U D AE

@ L[-o_c—;%l

a=2 S'C"-—EQ-:>C':

. e

o +vox+C =O

2L+ I+ U=0

(Total for Question 14 is 3 marks)
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15. Here is a speed-time graph for a car.

F S

30
25
20 f
Speed (m's)
15
10
5 bt
{
-~
B |}
0 = L) gt
0 - 4 6 8 10 12
Time (s)
(a) Work out an estimate for the distance the car travelled in the first 6 seconds.
Toted Distence = A wundey” o
- O @ ®
O = loxh = 2x4 = Yy
= T2 2¢
....................................................... m
@ = "L(Qﬁ - 7_—_@1”_‘51_: C‘ M 3)

G) = W) Z2(St=12m
2 3

To fead Orctea = Hat Amt3p
= 26m
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(b) Is your answer to (a) an underestimate or an overestimate of the actual distance?
Give a reason for your answer.

WM ..... ’T\/\Q]C'/“'\hm ......................................

(1

(c) Calculate an estimate for the gradient of the graph when ¢ = 8 seconds.
You must show how you get your answer.

3@9{1%}}—:—_ crecelerodbhon ‘

Taf&el\)r-\-o B = Ya-Hi o 3.8 =13 ::‘._g'f = 3.3%
(z-s,l?.s)ad@,q,ﬁ) g £6-14% 1.2

(Total for Question 15 is 7 marks)
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16. There are 15 boys and 9 girls in a mixed hockey team.
One of the boys and one of the girls are going to be chosen to collect the cup.

(a) Work out the number of different pairs that can be chosen.

\5xo = (Y

(2)
Two of the boys are going to be chosen to play in an all boys team.
Sam thinks the number of different pairs that can be chosen is 210
Tom thinks the number of different pairs that can be chosen is 105
(b) Who is correct, Sam or Tom?
Give a reason for your answer.
— ) 3 -
ootz correet Swnee. poud (AB) 52 save .
eam o8 TR0 (B )
(1)

(Total for Question 16 is 3 marks)

17. a:b=5:8andb:c=6:25

Combl f\,U\ﬂ Q.O\"-’O S

Find, in its simplest form,a : b: ¢
a:b b
sl % &% 25
temef) Sondlé boay | Gem)
=t S 2u 24100

e SR - LA

1241100 pp=. 15524 1A0)

(Total for Question 17 is 3 marks)
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18. Rana wants to estimate the number of balls in a bag.

On Monday Rana removes 120 balls from the bag.
She puts a mark on each ball.

She then puts all 120 balls back in the bag.

On Tuesday Rana removes 20 balls from the bag.
8 of these balls have a mark on them.

Work out an estimate for the total number of balls in the bag.
You must write down any assumptions you have made.

X = el |20 ouit GQ e

\2Ch
X

Sap e Rouwkol 40O,
g

e

20

AW Sample ey = B
ES o-ppropr.‘-a.;l-o-lj -_x__‘ 20

(’( 20) I8

(K- fx'\ 2&% -: grx_ ...........................................................
L g ) 200 = (Total for question 18 is 4 marks)
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19. m =28 x 10" where n is an integer.

L

Express m ® in standard form.

Give your answer, in terms of 7, as simply as possible.
an
M= TR

-

'
2

wl=

L 9 an 3N 3~
m”:(@mo ) g X0

x (O %O
1 2N
m - 2 x< (0

-3 '
se M - zx"
-3n
Shendach o = 0.5 % IO
-3 "
= S x W

(Total for Question 19 is 3 marks)
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20.

Ashok has six coins in his pocket.

He has one 5 cent coin, two 10 cent coins and three 20 cent coins.
He takes at random a coin from his pocket.

He records its value and puts the coin back into his pocket.
He then takes at random a second coin from his pocket and records its value.

(a) Calculate the probability that he takes two 20 cent coins.

P(‘LO Cm,b') = 3
6
- SR L4
P (20 canks onok 20 caonk) = & £ G.
— 9 = = 2
4 o
(b) Calculate the probability that the second coin he takes has a higher value than the first coin
he takes.
PQSS"U_Q PQM.&—&HU\S‘.
I 2 e
?(5.10) = TR F = 52 @
4 L
WaNT P (S,20) = ©@Xx % = 3¢
P fIORpy » = o3 L £
P02 s 2nt 2 @
¥
26

.........................................

(Total for Question 20 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
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